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(i)
(ii)
(iii)
&
v)
(vi)

(vii)

(viii)

Wyw-vs#aﬂmﬁﬁﬂwﬁﬁrﬁmm% Gve &, GUS @,
@ T 3N GUE T/

57 597U % o7 26 T E |

T 77 AT &

T T & 3% Iq% G 7T T &

o7 G5 1 & 7 7F ST G-I T €1 Jedw T 1 3 8
s @ SR 5 F1 I 30 15 @ e F1 7€ G AT |

v T 8 & 18 TF YAF T 3 3 F 8| §7H 8 FAF I F
msowﬁ#aﬁ%mvﬁﬁ#%{!/ '

gv G 19 & 25 7F JEOF T 5 30 T & 574 8 FAF T F
I 100 Y55 @ 378 F7 781 51 e

o T 26 HARE T 5 3% F1 81 §@% & 9T 8 26(4) I
26(B)1 26(A) 2 37 F1 3 3fiera @ a1 26 (B) 3 37 FT TeT &
2/ wrf %7 e QO 61 9 3 S ST-GIeTH F H Ao

General Instructions :

(i)

(i)
(iii)
(iv)
)

32/1/1

The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 7 are very short answer type
questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.




(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a map question of 5 marks with two
parts — 26 A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the map inside your answer-

book.
WUg-h
SECTION-A |
1. 193 yraredt & S A9 | onifefes &= # ‘Ierare’ i sre Fifu) 1
oraT |

Fepi et 8 % anles T § SR  dimer < sarE Hifv)

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economlc development _
of Mekong delta region. - '

2. Wﬁm@mﬁ?ﬁaﬁm%&mﬁ? 1
HYar
gt wwiedl # SfgaTe WishA A Iu=IE il AR B AgH H FE
eI i 7
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?

32/1/1 3 [P.T.O.




3. ue H A fEemg - Frefieon 3 fore 38 soerh 27 1
HAYAT
e e - freferor & fore & saer 27
How is over irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?

4. USHIfd® ®9 § Fd AT §RT Skl Gur H8 e st gewd 87 1

How can democratic reforms be carried out by political conscious
citizens ?

5. fuEs arior weEy o o 3Rt ot o Hey # Tk W wn wieg 8
Tkl 7 1
Jroran
IS o HYG foheT hT forehmer ot o161 =11 &1 gl 27

What may be a goal of landless rural labourers regarding their
income?

OR
What may be a goal of prosperous farmer of Punjab?

6. ‘WAt wd ‘fyciaes &senl § Hat ey A 1

Distinguish between ‘primary’ and ‘secondary’ sectors.

7. S 31T IYTETAT 0T & side) TR RUMER 2ht T 901 o 87 1

Why do banks or lenders demand collateral against loans?

Q|us-d"
SECTION-B

8. Hdiferyd i fedr i wiEfElt fre & sref &t 3 for wepr @ fomam
17 3IETEN Figd e Hif| 3x1=3

HAAT

32/1/1 4



o &t anféfer wmifq & oo Romdier i smenett < Seewl aftg
=TT hifsg|

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

9. It TSt ford YRR o1l § e fsd Tl 1 we el Icares o
817 3R Afed =are Hifve| 3x1=3
FraT
9 ° IeAgell @t % SR 3w R R @il % foe gear @
3ueTed &l T8 A7 ISTEWN Afed saredT hifvg)

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

10. ‘Gt sreg g A fere <t g fesyaratt s avls i) 3x1=3
HYAT
"Gl e g A R i g fersianadt = ot fiftg
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

11. “rd # foemer R wedt sEe e ) gelsar w1 afomm & wwdt
21" 59 %y w1 faveryw Aifs Ix1=3

“Water scarcity may be an outcome of large and growing
population in India.” Analyse the statement.

12. ‘Tl Sremaifer <wr o wmiires fafimanatt v stk 31 v gy o1a @

3R Ty ot 71 wadt 217 i Afed 39 e 1 gy Aifv) 3
rerar

32/1/1 5 [P.T.O.




gt foTe TeHifa Y g e 8177 T e Y v iR

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR .

“Social divisions affect politics.” Examine the statement.

13. “'9Rd H AW % 91 @ Afensit f fufy § $o guw gan 2, wy
3eft oft qgeui @ Hrhl S 817 39 e 1 fawdive Hifvw | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

14. 9 H THifoes el 1 5w wor e @ e o & w9 § aea
forereht 87 Iemewon witq =amen fifvm| 1+1%=3

How are political parties recognized as regional and national
parties in India? Explain with examples.

15. “waiaer # firwee % e wg st osr et w5 e 18 w11
39 HY I —ATIETT I8 | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”’ Justify the statement.

16. WA # ‘qeiiae &% Wecaqul 941 81 61 8¢ fohel i Ron i s
e 3
HYAT
feret @91 % Heoher wteg 3ee (SRLEd) T we F R fifdre ageil
3T AT 1 T 5 Y R &7 Sereor wfia T i
Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.
‘ OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

32/1/1 6



17.

18.

19.

20.

Tielen forshmer ® =wevr o Sfta=Tiies Wial & weed &1 guid i) 3x1=3
reraT
ST 0 % Bl T FSERI T IS ATt L THE] 1 Jui FIRf)

Describe the importance of formal sources of credit in the
economic development.

OR
Describe the bad effects of informal sources of credit on borrowers.

3UHIhT 3o ‘afayfd fFramer’ & iR w1 v fRe TER # T
&7 IaTeT Higd s i) 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

Qug-T
SECTION-C
1930 ® forem afordl =+ ‘Sfig ol waifoem’ & snfea frn? sght
Iqafedrt w1 guiq fifsm| 1+4=5
YT

HiITT 1aT TR Ysg i g it ‘afee st st
H o 3R e foram wxer Y gewifirar &1 avia Hifs

Who had  organized the dalits into the ‘Depressed Classes
Association’ in 1930? Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

‘Ieell Sraredt st o sreleTaen #1 w9 7 FA § WRAT SR Y U

W%‘ﬁﬁmwﬁsﬁ[’wmaﬂ%ﬁwﬁﬁm S5x1=5
Jrerat

‘sfielf sraTedt o TEe qTeh e W H SR F1 WEY E geamal

1 =Ue H 311 gt o119 HUA A1 frgervor i

L1 o ; [P.T.O.




21.

22.

23.

HAAT

“smrefie et # STiieRr 3 TedeHo 3 e T YN S 81
e o T weef # 39 s o1 forwetuor hifsg|
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

T B 3En gate e % e e yer e €7 Seren
G’%ﬁmﬁﬁql Sx1=5

How are industries responsible for environmental degradation in
India? Explain with examples.

“ared T T UTEEA, 1o iR i e At glaasEesd 21w
=l Ferewn wfed gfE Hifsa| 5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

feufy, TR 3TN HiesHiaeh Teqai o IR W sfcsmm iR sfictert 1

fesrfe =t e shifsil 1+1+3=5
arrat

e w1 e Y T 2TR? ST 9 @ yafid T A 9reer &

fafirs @&yt it suare i)

‘Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

/1/1 8
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24. Rrdawr ok 39 EF & &9 § Aldite o9aedT & Hec $1 avid
Fifsr| 5x1=5

Describe the importance of democratic government as an
accountable and legitimate government.

25. SEUSH SulAT 3cated % o e SR FR@™! i e fofere &
o & ot Tenfira et 87 forrel oife skl <ht s hifs| T8x1=5

Why do multinational corporations (MNCs) set up their offices and
factories in certain areas only? Explain any five reasons.

Qug-g (AHH 99)
SECTION-D (Map Question)
26. (A) 2 9T A 3R B T MU 9y & TeHifow Tar-wEtes # i
foru T ¥ | 39 @ A Fefefaa SEeRt i wEEar § 9=
PR 3T Tt A AR W i s Y w fafa- 1x2=2
(a) 9% T el ARdE T HE 1 Ay gl
(b) T8 TR el Sfcrataren AT s 92 gl
(B) zeft fou mu s o TeHifaes Y-t § FefaRad § @ fa
i = 3uges gl | awisy ofit 3 A feRav; 1x3=3
(i) TFHATFRH — (0T Hell 4T
(i) TR - <frg ofit seuTd 93
(iii) ST - FFAI TFEATATSI qTeh
(iv) IREY - GHal 9
(v) GER G - 919
Me:  FrefaRaa we Feer giEarfem whenfeat & fog w7 @@ 26
© oA 1 fREl ater st I i - 1x5=5
(@) 38 Usa o A fafan stEt sfertaren an i we g
(i) 3@ Tsg 1 AW foafaw st st 3 T g drsl
(iif) 39 T 1 AW forftee st SR -= g wied gE |
(iv) 38 Tsg o1 am forfae st arrdi wE oo e 2|

32/1/1 , 9 B




(A)

(B)

Note :

32/1/1

(v) 38 TsE F AW fafen sEl fsmam der o se g
fea R

(vi) 38 Ts¥ o1 9 fafaw s e diweam Siaist aeh
feora 21

(vii) EER U= &g forg 7t o s 27

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(ii) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 26. Attempt any five

questions.

(i)  Name the state where Jallianwalla Bagh incident took
place.

(i)  Name the state where Gandhiji violated the Salt Law.

(iii) Name the state where ‘Chauri-Chaura’ incident took
place.

‘(iv)  Name the state where Paradeep Sea Port is located.

y(v)  Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

10
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TTHT=T 3397
() 39 J97-97 & IR GUSI H [F975d 13397 797 8 | @ve &, @U8 &, @S T 3K
&GS 7 |

(i) 39 J97-99 4 $T26 FH & |

(iii) G4t o7 a3 |

(iv) IcI% 97 & 3% 39% TH7 [T T & /

(v) Y eI 1 @7 a% 3l Tg-IF0T §97 & | T4 I 1 3% H 8 |

(vi) ¥97 G&IT 8 T 18 T Jd% Y97 8 3% & & | 374 & YAH Jo7 & I

80 og] @ 37feres @7 781 &7 FT |

(vii) Yo7 G&IT 19 T 25 7% Jcd% J97 5 b H7 & | 377 & 4% J97 H I
100 sG] @ 37 &7 987 &1 =eT |

(viii) 397 G&IT 26 FIFIGT J97 5 37 T & | 599 & YT & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T 3lAEIT @ @7 26 (B) 8 37 &7 YT & & | TlaT T 97
7o &4 T 3G 91 FHR-GIaHT & 3K 771 BT |

General Instructions :

(i) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iii)  All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viit) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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SECTION A
1. 1834 H Wt H Y[ooh T F(ToIs T1UT i o 3L hl ST FHifT | 1
HAgAT
1926 § foo@ ™ H WS Afd Tod ¥ghd H 9 AGIAd & e 8H % [T
STHER Y& SRV h STEAT HIFT | 1
Explain the aim to form ‘Zollverein’, a Customs Union, in 1834 in
Germany.
OR
Explain the main reason responsible for the eruption of a major protest in
Saigon Native Girls School in Vietnam in 1926.
2. i Ta g feparal st SRI gigd shiam TR ? 1
AYAT
=g WA A SIS STl h1 TAATH H HLAG B h o= Hl F AW
feam 2 1
Why was printing of textbooks sponsored by the Imperial State in
China ?
OR
Why did Chandu Menon give up the idea of translation of ‘English Novels’
in Malayalam ?
3.  Toram 4 @ 1 it i i aEE i hE 7 R 2 1
HAYAT
AYSTg 3 STt 1 et HT TR TS R gA foRAT 2 1
How has Shillong solved the problem of acute shortage of water ?
OR
How has Tamil Nadu solved the problem of acute shortage of water ?
4.  ficers AUl H STETA (ST i WIeHT hd fohiad g3 2 1

How did the feeling of alienation develop among the Sri Lankan Tamils ?

1320211 3 P.T.0.



5. S fpa™ wEA 3TH o fOT shaet auf © AR 8 396 fou foeema =61 degw
Bl Tehal B ?
ST
&0 SUSTTR Jash o ToTC Trhd 1 A& T 81 Tehll § 2

What may be a developmental goal of farmers who depend only on rain for
growing crops ?
OR

What may be a developmental goal of urban unemployed youth ?

6.  3MYFe T A g1 1 Th-Teh IgTelv faifau |

Give one example each of modern currency and older currency.

7. ¢ 39 T FHiFch foerq Ut Gl dTed |, i 3Tehl UETl @i gHfTaa
T o g fopm vreq g (=AM bt ol ?

If you want to purchase an electrical valuable good, what logo would you
like to see to confirm its quality ?

Qs @
SECTION B

8. 19303 ¥ § I H 311$ Wi} 3Mfeh shigameai w1 qui Hifvw |
HAAAT
1903 | BIE o SMYfeh 9T | 318 TR TS 1 Jui hifvT |

Describe the great economic hardship that prevailed in Europe during
the 1930s.

OR

Describe the serious problem faced by the modern part of Hanoi in 1903.

9. U H BUGH A ThE THR UG- ! Teh T HERId ! [oehfyd foRaT 2 3gmton
Higd sarean hifsu |
AYAT
cd fsohd A AN o ST Td I W SRR o gSUWTEl 1 e o
foram 2 Seretont wfgd =ame IS |

3221 4



How had the printing press created a new culture of reading in Europe ?
Explain with examples.

OR

How had Charles Dickens depicted the terrible effects of industrialisation
on peoples lives and characters ? Explain with examples.

10. 9Xd H 9 W del Sdie 7o i fhal dF Y@ foRivaresti @1 v
SHIRTT | Ix3=3

qera
WRA | 918 S aTcl] ‘el Jar i foheal diF TH@ faRiarsti s 9 I | 1x3=3

Describe any three main features of ‘Alluvial soil’ found in India.
OR

Describe any three main features of ‘Black soil’ found in India.

11.  “S &ty =g FEeor & e s91 e 9 9 916 A T R o9 9d B | 3
FYT 1 fagarvor HifT | 3

“The dams that were constructed to control floods have triggered floods.”

Analyse the statement.

12. 9ot g # aftifaa feeel ot fawai o 9w fafge | 37 fowsi W s A
§FTT JTd 8 ? AT <hIfT | 1+2=3

AT

AT H ohrg M TSI GTHI o ST T 1 SCall s WA HfagH <hl
Fd ama 3 2 T FifT | 3

Name any two subjects that are included in Concurrent List. How are laws
made on these subjects ? Explain.

OR

How is sharing of power between the Union and the State Governments

basic to the structure of the Constitution of India ? Explain.

1320211 5 P.T.0.



13.  “gde gmfores fafiear amfes faweH & &9 a8 adl 8 17 3@ % &

TG 38T | 3
“Every social difference does not lead to social division.” Justify the
statement.

14, Sfd fopE TR TSI | 3 &9 o Hehal 8 ? 3SEWN HAled T8 T | 3

How can caste take several forms in politics ? Explain with examples.

15. “fava WA += 99 & YR Hiftg & | Ifg & adam @ & 35T gl i R/,

I SR 35 — 40 98T § & THTA & e |7 39 guen ¥ fued o fhedl dF
3T <1 ST hifr | 1x3=3
“Crude oil reserves are limited all over the world. If people continue to

extract it at the present rate, the reserves would last only 35 — 40 years
more.” Explain any three ways to solve this problem.

16. T&T €9 G UMWV &1 H okl i G€A § AfU® Jhg R IR 7 ? Y
HIT | 3
terat

ST SRUT &5k shl TaTU STk k0T &k H dgdl 41 & ? T8 hifvT | 3

Why is it necessary to increase a large number of banks mainly in rural
areas ? Explain.

OR

Why are service conditions of formal sector loans better than informal
sector ? Explain.

17. ¥Rd %l THR TR I AH AFAG I | o8 TR T&F YR 3
T Hehdl & ? 3TN Higd AT hitg | 3
AT
IR F WA o AN o St @bl fohd YehR THTiad foham B 2 Sereton afgd
e HIfvT | 3

How can the Government of India play a major role to make globalisation
more fair ? Explain with examples.

OR

How has globalisation affected the life of Indians ? Explain with examples.

3221 6



18. JUHRH 3T ¢k S H G=AT 9 h UHR T ATH hy 3I3Td & ? IETE
Hfgd samean $ifve | 3

How are consumers enjoying the ‘right to be informed’ in their daily life ?
Explain with examples.

Qg
SECTION C

19. Vo fava g 4 9Ra § kA i wHEmsTi @ Ygr foRan 2 gl afeq

=T 6T | 5
AT

199 wrareq) § fafay Hiehlaeh AfshaTeTl 4 WA H 8 AHEeh ST o WId

! Toerfaa foram 2 Iergwon wfgd samean hifv | 5

How had the ‘First World War’ created economic problems in India ?
Explain with examples.

OR

How had a variety of cultural processes developed a sense of collective
belongingness in India during the 19t century ? Explain with examples.

20. 3Gl vraTedt § fava # MU SearEl B Gehdieh] shi Y[HeRT T GUM ShITT | 5
AT

It srared) % S $Ivg B IR W Sfied 1 avi IR | 5
areran

It vrared) § wie Sl 916 WA o fafay 3ur o e Hifs | 5

Describe the role of ‘technology’ in transformation of the world in the
nineteenth century.

OR

Describe the life of workers during the nineteenth century in England.
OR
Describe various steps taken to clean up London in the nineteenth century.

1320211 7 P.T.0.



21. YRA ¥ IME T ¢ Yg@ W BHEA! o A9 fARGU | 3% I & & H1 quia
T | 142+2=5

Name the two major beverage crops grown in India. Describe their growing

areas.

22. O I HI AN TGV H HH T=ERT S Fohal ¢ ? Tafdm Iuml 6t =amen
I | 5

How can the industrial pollution of fresh water be reduced ? Explain

various ways.

23. “CArehdifieh SIIEATT ATk STHHMAIST Sl FH = H SICT %A gl gl 9IS
21”99 U9 I FAFETd g | 5

AT

“HATehds ITEH STEAT 37 Y <hl IME FIEA13T ¥ 95l & |” 39 hA <hl
=ITIET 38T | 5

“Democracies do not appear to be very successful in reducing economic

inequalities.” Justify the statement.

OR

“Democracy is a better form of government than any other form of

government.” Justify the statement.

24. USHITAH A T T A 3 ? TSIk e hl Tohgl =R famiadareti <A1 samean
i | 5

What is a political party ? Explain any four characteristics of a political

party.

25. G T fSht aent s e foRameti it gan Shifs | 5

Compare the economic activities of the private sector with that of the

public sector.

3221 8



26.  (A)
(B)
(A)
(B)

1320211

wus ¥
SECTION D

T T ‘@’ W b’ fGu MU wwa F qofas WWaEtE (T 11 W), |
Jferd fopu T 2 | 39 AN vl FAEfafga St & wgrEar 8 yg=nHe
3R 3ok T A 3 THIT Wit 78 Wreh w e

(a) 9§ TAH &l WA TG HiTd Hl A §37 |
(b) 98 ¥ ST&T TS 9 77 I arel |

Ix2=2

zH} feu U WRA & UoHifae WE-AHteT | Aefaiad § 9 gt di7

%I ITYH @l | R 3 3ok 1 fafan :
() THA - e IR e HE
(i) MHTR -  GRSIR ToIATSI dTeh
(iii) YT —  TTfueeh Sett B

(iv) g — 919

(v) Icﬂ@ﬁ_—[

gl 9T

Ix3=3

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the

lines marked near them :

(a) The place where the Indian National Congress Session was held.
(b) The place where Gandhiji violated the salt law.

Locate and label any three of the following with appropriate symbols
on the same given outline political map of India :

(1) Bokaro

(i1) Gandhinagar

(iii) Tarapur
(iv) Salal

(v) Tuticorin

Iron and Steel Plant
Software Technology Park
Nuclear Power Plant

Dam

Sea Port

9

P.T.O.



Fig:  FHECTRET 397 #acl gIRaTea qhgntaen & o/ 397 61 26 & €& T/
g | Iabegt wie 371 & IR 171y

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 38 TST &1 AW TAfgu, @l IR TS Hi| 3 {91 TiesH
foarst 1920 § SmfSa foharm |

(26.2) I8 TS 1 AW fARGY, &l el FHIST e AHGU + HARE FRAT |
(26.3) 38 LI 1 A1 faRgu, S &I S i I9H o+ & H9(9d 2 |

(26.4) 3T USF &1 9 fafge, &7 sieprl Algr 3 3691 997 a7 |

(26.5) 38 A &1 AW feafau, SEf aroqR e nfvess St g feda 2 |
(26.6) WA @ fohE dC W I TH Io oo 8 2

(26.7) 3T TST &1 M faIfau, S&T1 goitar 91y feorg 2 | 1x5=5

(26.1) Name the State where the Indian National Congress held its
session in December 1920.

(26.2) Name the State where cotton mill workers organised Satyagraha.

(26.3) Name the place related to the calling-off of the Non-Cooperation
Movement.

(26.4) Name the State where Bokaro Iron and Steel plant is located.
(26.5) Name the State where Tarapur Nuclear Power plant is located.
(26.6) On which coast of India is Tuticorin sea port located ?

(26.7) Name the State where Salal Dam is located.

3221 10
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26 & foTu

For question no. 26

WA kT WET-HTA T (TR
Outline Map of India (Political)
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SET-1
Series JMS/3 LIk R
Code No. 32/3/1
A F.
Roll No. el $1s Pl S 5 T

TR 93T forg |

Candidates must write the Code on the
title page of the answer-book.

o U FE H A foh 38 Y97 § Gigd I8 10 + 1 THH & |

o TH-UA H Fied FTU HI AR T T Shig T Hl B IT-IEehl o JE@-I8 |
g |

o FHUAT A A foh 30 AT | 26 T 7 |

o HUAT TTA 1 IW {TEHT & HIH ¥ UgeA, T T THATeh a9 ford |

o 39 WU Wl UG o [T 15 e 1 ww fean mn 8 | w9 1 o qalE
T 10.15 5 fopT IT@W | 10.15 S § 10.30 1 b B hadd IH-UF I Tl
3TN 39 AT & R o IT-YIEdh! T g I &1 fora |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e SERCHIC]

SOCIAL SCIENCE

FEiRa 77 : 3 a2 S7feHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

320301 1 P.T.0.




Wﬁﬁw:

() 39 J97-97 & IR GUSI H [F975d 13397 797 8 | @ve &, @U8 &, @S T 3K
&GS 7 |

(i) 39 J97-99 4 $T26 FH & |

Git) &Yl go7 HHard & /|

(iv) 9% J97 & 37 39% T R 1T & |

(v) I 7 TH A AG-FTIT I E | 9% To7 1 3% H1 5 |

(vi) Y97 G&IT 8 T 18 % Ycd%h Y97 8 3% F & | 378 & I Jo7 H IH

80 ¥oc] G 7feres @7 787 &1 Tz |

(vii) ¥o7 G&IT 19 T 25 7% Ycd% J97 5 b 1 & | 379 & Id% J97 & I
100 vi5G @ 37 &7 787 &1 =eT |

(viii) 397 G&IT 26 FIFIGT J97 5 37 1 & | 599 & YT & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T 3lAEIT @ @7 26 (B) 8 37 &7 YT & & | TlaT T 97
7o §4 T 3G T FHR-GIaBT B 37T 771 Bt |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.
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@vusg <h
SECTION A

1. 1815 ¥ AfUehe Fleard I HaEATsli 3 Hretel shifd & S Jlgd At i

fafa # & foru defim & frm w=i s 2 1
arera
1907 ¥ forram ® “iferd Sh1 ®ha’ @It Qi TR 2 1

Why did most of ‘conservative regimes’ impose censorship laws to control
printed material associated with the French Revolution in 1815 ?

OR
Why was the ‘Tonkin Free School’ established in Vietnam in 1907 ?
2. HgU ITH YE ARG | IUgfAEt Saaeh SUR § i el off ? 1
AT
TR | sEdl Te) & IR gurehl § AfEerst 3 s=il i U@l ol e &
ITT: galcdTiga @it foham = 2 1

Why were manuscripts not widely used in India before the age of print ?

OR

Why were women and children often discouraged from reading novels in
the early decades of the twentieth century in India ?

3. YN@E H G Rt fohe wepr y-fafietor o fofe Sorerft § 2 1
HAAAT
Tora # 3fd aeEn et o fofe S saterf 7 2 1
How are mining activities responsible for land degradation in Jharkhand ?
OR

How is overgrazing responsible for land degradation in Gujarat ?

4.  Sfcoaw § ATEIRe SRR Sy IH S g ? 1

How is community government elected in Belgium ?

5. Y& % AR IRER hH Tk AShl & o faemma 1 @& =1 8 geha1 8 2 1
SrerET
Tk grad foram & fou foerre o1 @ie =i 81 gehdt B 2 1

32131 3 P.T.O.



What may be a developmental goal of a girl who belongs to a rich urban
family ?

OR

What may be a developmental goal of a rich farmer ?

6. IS UF Ik ST &ehi 1 Teh-Ueh IQTEVI fAIRAT |

Give one example each of primary and tertiary economic sectors.

7. a9 ug fodeft faw # @ o il |
Distinguish between investment and foreign investment.
Qs g
SECTION B

8.  fored o8 Ue U9 & &Y T 3ifEded H T 2 SRS il |
ST
forrqem o Tpel hH TSHildeh 3T HIEehideh FoY o ATl H 55 ¢ ? AR
HIT |

How did Britain come into existence as a nation-state ? Explain.

OR

How had schools in Vietnam become an important place for political and
cultural battles ? Explain.

9. IEEdl waed # WU § FhE THR o=, Aiared 3 R %k &9 H €
&I § AU U3k 9¢ ? TR Uigd AT shIfaT |
arera
sufrafsen ot @ 2ot wg Su=mEl # e Sfem @ Gfa-fest @ 9
SRR T T FIq Sl ToR 7T 2 3T Ffga A Hif |

How had a large number of new readers among children, women and
workers increased in nineteenth century Europe ? Explain with examples.

OR

How were vernacular novels a valuable source of information on native life
and customs for colonial administration ? Explain with examples.

3231 4



10.

11.

12.

13.

14.

2 o ATh Taemma K fig & w9 4 fafaior 3= & Agw o1 99 hINT | 3

YT
HN o fohrE H TN o ANTGH T JUH hI9T | 3

Describe the importance of manufacturing industries as a backbone of
economic development of the country.

OR

Describe the role of industries in the development of agriculture.

“gareA et Sfea gfsean 8 17 dent Afgd 39 9 sl FI¥ETd 38UST | 3

“Resource planning is a complex process.” Justify the statement with
arguments.

TSI | ST ford TehR 379k ®9 o Tehdl g 2 SCTEUN Figd oAl <hIfT | 3

AT

AR X H G o oG § Aleenadi 6 feufd § 8 gan gsn ? el |ied
ST HIT | 3

How can caste take various forms in politics ? Explain with examples.

OR

How had the position of women improved in our country since
independence ? Explain with examples.

“ArepdTles ST hl 9l Theral afid 3R frsae el # 8 17 39 %o
ferzetwor s | 3

“Democracies have had greater success in setting regular free and fair
elections.” Analyse the statement.

“TArhaa hl THED B I FHIT B ARG SFaEdT & ara- TRt 7 fhel
w9 T 7 |” 3TN Afgd YA A gee Hifs | 3

“The challenge of deepening of democracy is faced by every democracy in
one form or another.” Support the statement with examples.

5 P.T.O.



15. BH WThideh SH1EA] 1 3fad AR forershqeen & § ITART 91 HEAT =1T ? 379
forami =t wse ST | 3

Why should we use natural resources properly and judiciously ? Explain
your views.

16.  3Tehcl Y &F H &1 HfUeh USHTR hE Icqd TohT S Tehd & ? Toheal o9 IUTl <l
ST HIT | Ix3=3

e
WRA H SUSATHY sl |Wer 1 8 gL fohal ST Eehal & ? fohegl i 3umil o
ST HIT | 3

How can more employment be created in agriculture sector alone ? Explain
any three ways.

OR

How can the problem of unemployment be eradicated in India ? Explain
any three ways.

17. “FU GhRIcHS YR 3161 H Ghal & |7 T HIA hl doh dlgd ~AFETT
SIAER 3
arerat

“FUT TRTICHS VRIS H Thal & |7 IH HAT HI dh dlgd AT
3=y | 3

“Credit can play a positive role.” Justify the statement with arguments.

OR

“Credit can play a negative role.” Justify the statement with arguments.

18. ¥R H foesfi e =l 3hiva == & U g 9 TS9 TSN g0 33T T
forgl 7 shami w1 avfa i | Ix3=3

Describe any three steps taken by the Central and State governments to
attract foreign investment in India.

3231 5



19.

20.

Qs 1
SECTION C

TRTeHT el o TRl 3R TS i TaEnon & fow § e wegl ST

S T oft 2 sare i | 5
HAYAT

TRa o fafie v 5 forami ofit sifeanfa= 3 ‘sragam steied’ ° o 9o

T forn 2 s hifT | 5

How did plantation workers have their own understanding of Mahatma
Gandhi and the notion of Swaraj ? Explain.

OR

How had peasants and tribals participated in the ‘Non-Cooperation
Movement’ in different parts of India ? Explain.

1920 % YR e H fohd yohRr sfiehl srefeasen g: osft & awarhl &

A 2 IS0 Gfgd AT shifau | 5
AT

SHEE! IATEE % N $is H SR § 2| hl SgaEd | TugU ol e

T 83 ? 3G Higd SARE] hIT | 5
AT

IAHE] WAl § 3l & HU IR HREH H A & g8 AW W AT °

8 it THEd 9er 7 S off 2 e wfga e Fif | 5

How had the U.S. economy resumed its strong growth in the early 1920s ?
Explain with examples.

OR

How did the abundance of labour in the market affect the lives of workers
in England during the nineteenth century ? Explain with examples.

OR

How had widespread use of coal in homes and industries in nineteenth
century England raised serious problems ? Explain with examples.

7 P.T.O.



21. WNd # IME T 3 IgE@ W Bl & AW fafan | 37 SHl woet 3T R
JTYIh G o TTY Ik I o &A1 T qUIH HIRT | 1+42+2=5

Name the two major fibre crops grown in India. Describe the conditions
required for growth of these two crops with their growing areas.

22, “fordll <91 & TSI IR i 3o ST a1 a1 2 |7 dehl dfgd e
! EETd 38T | 5

“International trade is considered the economic barometer of a country.”
Justify the statement with arguments.

23. YA 39 fowmer < # H-wadly TR % ug 1 9l HIfu | Ix5=5
HAAAT
Teareg i fohedl ure faemansti 61 9o i | Ix5=5
Describe the importance of a third-tier of government in a vast country like
India.
OR

Describe any five features of federalism.

24, Tfafaa g 6 Ui vd &afi 9l & &9 H qgaH R gEiag hif 5
(i)  -SMS Hihd
(i)  TRmeft sremreft gt
(i) ...

(iv) ~ Trgardl s aret
(v)  WRAE ST qréf
(vi) 3@ &

(vii) HRES scAih

(viii) SHdT & ()

(ix) TS ST g
(x) FHNETE! qrel

3231 8



Identify and list the following political parties as National and Regional

political parties :

(1) National Conference
(i1) Shiromani Akali Dal

(iii) D.M.K.

(iv)  Nationalist Congress Party

(v)  Bharatiya Janata Party

(vi)  Shiv Sena
(viil) Forward Bloc
(viil) Janata Dal (U)

(ix) Rashtriya Janata Dal

(x)  Samajwadi Party

25. “STSR H WAWOT 3 T H BT @ |7 T HINT | 5

“Exploitation takes place in the market in various ways.” Explain.

Qs ¥
SECTION D

26. (A) T AAT ‘@’ IR b’ T T HRA o TSHITdh @I-AHA (I8 11 W), |
iferd fopu T 2 | 39 & Bl fEfoTRad SR Rl wgRET @ YEEY
3 3Tk Tl M 3 THIT Ei 78 Waret w fefan 1x2=2

(a) 9E T ST&T WIATT TS HiTE 1 AfEwE g3 |
(b) 98 T J&l § A hl Wt L Aol ThAMI 1 GIeH TR 3T |

(B) 3 fou U wRaA % TSHifae W@-aHed § HEfaiad § 8 gt div

I I BT W RIS IR Ik A1 fIRaT 1x3=3
(i) dHS — oy

(i) it —  Yq@ 995 q°H

(iii) T —  orE1 3R I g

(iv) BeUEe - TP TeTeArsil ITeh

(v) U N INEE IR

32031
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(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress session was

held.

(b) The place from where the movement of Indigo planters was
started.
(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Hirakud — Dam

(ii)) Kochi —  Major sea port

(iii) Salem —  Iron and Steel Centre

(iv) Hyderabad -  Software Technology Park
(v) Naraura —  Nuclear Power Plant

Fig:  FHECTRIT J97 AT gIRETET Ghenieal & 1o/ Jo7 &1 26 & T T
& | fabgt wier 3971 & I [o71T

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 39 TST I AW (ARG, F&T AT ST AT 8 |

(26.2) 3T TAH 1 9H TARGE, &1 i Sl Gl HH O FhAT 3 TIwE
feparm |

(26.3) TSHIG % 39 T 1 a1 fafgn, S|t fhami 3 dcmrg o |

(26.4) 3T TF 1 IM Tafgu, & Sl wie-3/%h @ f©ra & |

(26.5) 38 TS &1 AW feifgu, Sgt Sifa agg 1o feom 2 |

(26.6) 3T TS &1 9W fiRge, S@T 70w fvees gae foorg 2 |

(26.7) 3 UsF 1 A foiflgy, &t giqe Aren aorn se9rd w3 fevrd 2 | 1x5=5

(26.1) Name the State where Jallianwala Bagh incident took place.

(26.2) Name the place where the Indigo planters organised Satyagraha.

(26.3) Name the place where the peasants started Satyagraha in
Gujarat.

(26.4) Name the State where Bellary Iron-ore mines are located.

(26.5) Name the State where Kochchi Sea Port is located.

(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the State where Durgapur Iron and Steel Plant is located.

3231 10
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26 & fou

For question no. 26

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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SET-1
Series JMS/4 IS .
Code No. 32/4/1
T 4. glemelf ®Ie H IW-YETH * FE@-I8
Roll No. :

TR 93T forg |

Candidates must write the Code on the
title page of the answer-book.

o U FE H A foh 38 Y97 § Gigd I8 10 + 1 THH & |

o TH-UA H Fied FTU HI AR T T Shig T Hl B IT-IEehl o JE@-I8 |
g |

o FHUAT A A foh 30 AT | 26 T 7 |

o HUAT T H IW TEHT I[E I ¥ UgeA, T T HuTeh a9 ford |

o 39 WU Wl UG o [T 15 e 1 ww fean mn 8 | w9 1 o qalE
T 10.15 5 fopT IT@W | 10.15 S § 10.30 1 b B hadd IH-UF I Tl
3T 39 ATy & SR d IT-YIEdh! W hig ST g 1@ |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

FEiRa 77 : 3 a2 S7feHaTH 37 : 80

Time allowed : 3 hours Maximum Marks : 80

| 32/411 1 P.T.0.




Wﬁﬁw:

(i)
(ii)
(iit)
(iv)
(v)
(vi)

(vii)

(viii)

34 Y97-97 %1 TR GUSI H [G97/5id 37 77 & | @V %, @IS &, TUS T 3N
&GS 7 |

3G Y97-97 H $c726 T 8 |

asft o7 sifAard & |

TP o7 @ b 3G G 13T T F |

Yo7 &1 @7 % 3ld TG-ITHIT Fe7 & | % FoT 1 b BT 8 |

Y97 G&I7 8 & 18 % Yldh Y97 8 3% H1 & | 594 & Y9 Fo7 H FH

80 ¥oc] G 7feres @7 787 &1 Tz |

J97 G&IT 19 T 25 T 9% Y4 5 3% F & | 590 & Y9b Y97 HT FH
100 vi5G @ 37 &7 787 &1 =eT |

J97 G&IT 26 HHIT Y97 5 37k H1 & | 399 1 91T & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T 3lAEIT @ @7 26 (B) 8 37 &7 YT & & | TlaT T 97
7O &4 T 3G 3T IR-GIaT B 37K 771 Bt |

General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

Questions from serial number 8 to 18 are 8 marks questions.
Answers to these questions should not exceed 80 words each.

Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

Question number 26 is a map question of 5§ marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

| 32/4/1 2



@vusg <h
SECTION A

1. 1848 H Hfgsh @iy 7 o fuai # woaesff wegfa &I i 2 T R0 T
hifoTT | 1
AT
foRIae™ § <ifehd ShT TRl 1 WAl 71 ? Teh U TS HIT | 1

Why did Frédéric Sorrieu present utopian vision in his prints in 1848 ?
Explain one reason.

OR

Why was the Tonkin Free School started in Vietnam ? Explain one
reason.

2. 9RA H IEdl T % SNH $© AU ST i 9 Sl hHl 95 § Sl
i W 3 ? 1
AAAT
e wt § e 3 it I Rl 5 B A = 2 1
Why had some parents kept novels away from their children’s reach during
19th century in India ?
OR

Why had Englishmen demanded a clamp down on the ‘Vernacular Press’ in
the 19tk century ?

8. IS hl HHA IJMH o TC qa AT ST 7T -t 7 2 1
YT
YR H H-H ga1 Faiiee foegd ®9 8 Hefl 3R 98wy & ? 1
Which type of soil is most suitable for growing the crop of cashew nut ?
OR

Which type of soil in India is most widespread and important ?

| 32/411 3 P.T.0.



4. 39 W 1 AW fARgu, SEf 1956 % w1 AdE g9 F FEr o fogig w1 ww @

form | 1
Name the country where ethnic struggle led to violence and revolt after
1956.
5. ‘il 1 31 T HINT | 1
HAYAT

T o S grRT RN o ST=iies @idi o e hl SAravdehdr s Il
Tose 1T | 1

Explain the meaning of ‘Currency’.
OR

Explain the reason for necessity of supervision by the Reserve Bank of
India of formal sources of loans.

6. AU H HER Mefiehl o Je 1 fovemur i | 1

Analyse the contribution of communication technology in globalisation.

7. AW AT 5 e fosiell &1 amm (Iuee) @leT 7, @ 3@ 9WH W
TUTERT o T 379 ShiF-91 S 31 Seg fag g@nt ? 1

Suppose you have to buy electrical equipments, which logo or mark of
quality will you see on the equipments ?
Qus g
SECTION B

8. 3Gl YA % GRH JUUSTERT & st= Usgarg WaHTsTi &l fasid & o
FHHIETE <! ffieht T U HIT | 3
AYAT
BT B13T1 TGIeH oI, To=raeTd shi TsCarel JEIgN o €9 § JUH HiT | 3

Describe the role of Romanticism in developing nationalist feelings among
Europeans during nineteenth century.

OR

Describe Hoa Hao movement as a mainstream nationalism of Vietnam.

| 32/4/1 4



9. “una ¥ 3eEdl 9t & Aa A IfA-9g & IR § qE-aig HI Glga gieashre i
e & for@n I & on |7 38 Fua Y gfed g SWRE 3erewn afgd e | 3
AT

““rag % e ITRTEl W 9T SHERl Jodl W STEId §HS s feEd
3 1” 39 ®Y i gfe g1 3k IgrEwn afga Hifer | 3

“Issues of caste discrimination began to be written about in many printed
tracts and essays in India in the late nineteenth century.” Support the
statement with two suitable examples.

OR

“Premchand’s characters in different novels create a community based on
democratic values.” Support the statement with two suitable examples.

10. “9g3M 9RESEN SR S5 1Y I AT HHINH IGIeH o HRU &4 T
2 17 U8 ARl O Grf-d BUhT i IATR shifoT | 3

AYAT

“qrafier IWl-STT TRl YUl STl TRETT TR S WUSKU & fotw 3wt 8 17
Y Y] <hl HEwl bl &l 3TN Hied IR shifoly | 3

“Multi-purpose projects and large dams have been the cause of many new
social movements.” Highlight the concerns related to such movements.

OR

“Traditional harvesting system is a useful system to conserve and store
water.” Highlight the importance of this system with two examples.

11. Tl% I g 3TN T I g o o fobeal diF ST Dl IAFR HIT | 1x3=3

Highlight any three differences between Kharif cropping season and Rabi
cropping season.

12. Qrhad H TAHR TonmE] fehml (F9-Rmed) i Sl TR HiEet o qedieh
HIfTT | 3
Jrat

T H T T HISeRl Ugfa o1 Polishd iy | 3

Evaluate the strengths and limitations of local self-government in a
democracy.

OR
Evaluate the power sharing system in India.
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13.

14.

15.

16.

17.

18.

“Griiies favFl & s S 9o % fou dAlehdd g9l 1= dli & |
HUA hI RN IFUST | 3

“Democracy is the best way to accommodate social division.” Justify the
statement.

“Dreprardl 1 8 &1, AT sl HhardT ! TaTEl a1 & |7 3eTeLvil |igd e
i gfee shifvT | 3

“Complaints are treated as testimony to the success of democracy.”
Support the statement with examples.

“Sad o qat & fore 3wl ], uteg 9 Stearsti i fodn weRdt B 17
ST Tqehi Algd e hi Ifse T | 3

“Average income is useful for comparison but it may hide disparities.”
Support the statement with suitable arguments.

Sl MR Tt |iufet i STot For ¢ h fdfafer o arer & § sem
o forrgl i sron <Al samen hIfST | 1x3=3

Explain any three reasons for the banks and cooperative societies to
increase their lending facilities in rural areas.

Jvefientur o fehedl ofiF @THT ST HeATeh ShIfSTT | 1x3=3
AT
SRS HEA(T o feoheg] I ATHI 1 JoATRA 1T | 1x3=3
Assess any three advantages of globalisation.
OR

Assess any three advantages of multinational corporations.

IUHIRIST o [T FEAT I o SRR (JINE.3TE.)’ o 5w o1 aviF i | 3
HYAT
IUHIRIST o 10 ‘@laqfd HamoT o AfUhR < Haw 1 auiF i | 3
Describe the importance of the ‘Right to Information (RTI) for consumers.
OR

Describe the importance of the ‘Right to Seek Redressal’ for consumers.

| 32/4/1 6



Qs 1

SECTION C
19. Il 9t & SH WRa A sfYd yarEt sftent fY fevfa @ avia fifs 5
areran
YT o YRk STt it e o faem & yftret w1 aui i | 5
areran
St wd % o # o eel v wow § g () § ftr R’
ShAT T U HIT | 5

Describe the condition of indentured labour that migrated from India
during the nineteenth century.

OR

Describe the role of early entrepreneurs of India in the development of
industries.

OR

Describe the ‘land reclamation’ process in Bombay during the late
nineteenth and the early twentieth centuries.

20. HgeHT et 3 Ao 793 AR = IR foRAT 2 39 3Teied J oW Wl fhd

TehT G ? ST I | 5
rerE

HETCHT et ‘ST G 1 I[® fohaT ? 39 MR 4 o ol fohd TR

SreT ? ST Hifre | 5

Why did Mahatma Gandhi start the ‘Civil Disobedience Movement’ ? How
did this movement unite the country ? Explain.

OR

Why did Mahatma Gandhi launch the ‘Non-Cooperation Movement’ ? How
did this movement unite the country ? Explain.

| 32/411 7 P.T.0.



21. DIREATY 6 &F H 3N 38k IR 3TN AT TN 89T IeAMT o Fehirgd B
RN ol T HINT |

Explain the reasons for concentration of iron and steel industries in and
around Chotanagpur region.

22. forelt qw & fowma & foru, qd smfqa & &9 4 uftegd & @i & ugw &
Tse HINT |

Explain the importance of means of transport as a prerequisite for the
development of a country.

23. fafim el o1 avie Hifse, S meam 9 9Ra § afgenst & @y dewrd 3t

31 SHA BT 2 |

Describe the different ways through which women face discrimination and
oppression in India.

24, TIhad H TSHITdH ol hi HHERI i TS HIT |
AT
AR W TSI el <hl STTAIIhdT hl SRS HIT |
Explain the role of Political Parties in a democracy.

OR

Explain the necessity of Political Parties in a democracy.

25. <3 & I IRt H HeSI-eh &5k o INEH hl ITTR hIT |

Highlight the contribution of public sector in the economic development of

a country.

| 32/4/1 8



26. (A
(B)
(A)
(B)

| 32/411

T AT ‘@’ I

IR Ik T AW 3ok Trfig Wil 78 W@ren w fafge .
(a) 9% TN TET YR TS HiE H1 AREIE g |

wus ¥
SECTION D

b’ o U wRE & TeHiTae W@-AEEE (98 11 |®), |
3ferd foru T B | 39 Aqon ol Afafga S Y wgrEar 8@ yg=nte

1x2=2

(b) 98 AN Saf mefsh 9 fiad Al @dl v a1l fRa il o 981 O 9camig

1x3=3

T fema |
34 feu U WwRa & ToHifaes @aEtes 4 FeEfatad § 9 gt diT
I ITYH FaRl | gEIigy 3R Ik 19 faRaw
(i) T S IECEACr (RS DE|
(i) g™g - 99
(iii) MEAl  —  GIRII SaTATSI dTeh
(iv) ®EAT - Y@ GG I

(v) §‘liEI

el 3T 31 &

Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was

held.

(b) The place from where Gandhiji organized Satyagraha in favour
of Indigo planters.

Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) Tarapur

(ii)) Tungabhadra —

(iii)) Mohali
(iv) Kandla
(v) Durgapur

Nuclear Power Plant

Dam

Software Technology Park
Major Sea Port

Iron and Steel Plant

P.T.O.



Fig:  FHECTRET 397 @acl giRaTea qhgnteden & o/ 3o7 e 26 & €& T/
& | fabeg? wier 371 & I [o7aT

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) ITHEIAN I bl a9 o4 U FE(Id LA T A fafgu |
(26.2) VR TS UG I TS Hal 3T AT ?

(26.3) SAfcrateren a1 He fohe U=y H wfed g8 ?

(26.4) TG (VR Hott w97 fohg Tsa # oo B 2

(26.5) 39 USY =1 AW faRaw, S&T Argrell dfged=r TFTatst ureh feord 7 |

(26.6) I8 TS 1 AW [ARGY, &1 YL 8T SN 89Tq T 6o 2 |

(26.7) HISAT TG I WRA o fohd q¢ W @ 2 2 1x5=5

(26.1) Name the place related to the calling off of the Non-Cooperation
Movement.

(26.2) Where was the Indian National Congress formed ?
(26.3) In which State did Jallianwala Bagh incident happen ?
(26.4) In which State is Tarapur Nuclear Power Plant situated ?

(26.5) Name the State where Mohali Software Technology Park is
situated.

(26.6) Name the State where Durgapur Iron and Steel Plant is located.
(26.7) On which coast of India is Kandla Sea Port located ?

| 32/4/1 10



I G.

26 & foTu

For question no. 26

WA kT WET-HTA T (TR
Outline Map of India (Political)
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(%)

SET-1
Series JMS/5 FEE 964
Code No.
et 4. qlemel #is ® ITYEH F @Y
Roll No. i

TR 93T forg |

Candidates must write the Code on the
title page of the answer-book.

o U FE H A foh 38 Y97 § Gigd I8 10 + 1 THH & |

o TH-UA H Fied FTU HI AR T T Shig T Hl B IT-IEehl o JE@-I8 |
g |

o FYA IE WA 30 YA H 26 T 7 |

o THUAT U T I fIGHT I[& e W Uget, T 1 ShATH Havd o |

o TH YHUA Hl UG o fo1C 15 fire o1 Tm fon mn g | WeA-9w W foao qatg
T 10.15 5 fopaT IT@W | 10.15 ST § 10.30 1 b B shadl IH-UF I TeTl
3TN 39 AT & R o IT-YIEdh! T g I &1 fora |

e Please check that this question paper contains 10 printed pages + 1 Map.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

I NS CAERIC]

SOCIAL SCIENCE

AEifa a7 : 3 go2 S7ferHaTH 3% : 80

Time allowed : 3 hours Maximum Marks : 80

| 32/5/1 1 P.T.0.




Wﬁﬁw:

() 39 J97-97 & IR GUSI H [F975d 13397 797 8 | @ve &, @U8 &, @S T 3K
&GS 7 |

(i) 39 J97-99 4 $T26 FH & |

(i) T 397 srfAard § /|

(iv) IcI% 97 & 3% 39% TH7 [T T & /

(v) FHEGEI1 87 7% 3T TY-FTIT T 8 | T4 Fo7 1 3% FT 8 |

(vi) F97 G&IT 8 T 18 T Jd% Y97 8 3% & & | 374 & YAH Yo7 & I

80 ¥oc] G 7feres @7 787 &1 Tz |

(vii) Yo7 G&IT 19 T 25 7% Ycd% Y97 5 b 1 & | $77 & 4% J97 H I
100 vi5G @ 37 &7 787 &1 =eT |

(viii) 397 G&IT 26 FIFIGT J97 5 37 1 & | 599 & YT & — 26 (A) 37K 26 (B) |
26 (A) 2 37% T 3lAEIT @ @7 26 (B) 8 37 &7 YT & & | TlaT T 97
7o §4 T 3G T FHR-GIaBT B 37T 771 Bt |

General Instructions :

(1) The question paper is divided into four sections — Section A, Section B,
Section C and Section D.

(it)  The question paper has 26 questions in all.
(iti) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number 1 to 7 are Very Short Answer Type
Questions. Each question carries 1 mark.

(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers to these questions should not exceed 80 words each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers to these questions should not exceed 100 words each.

(viii) Question number 26 is a map question of 5 marks with two parts 26 (A)
and 26 (B) — 26 (A) from History (2 marks) and 26 (B) from Geography
(3 marks). After completion, attach the map inside your answer-book.

32051 2



@vusg <h

SECTION A
1.  E-91 T8 §iY % 9 % 91 | HifdeR] TG 9 989 =1 7= 2 1
AT
JufaAfies wrad # HrEifER g foaaamante= ot g fog & fore ford
Yeh TicHTigd foham =T 2 1

Which nation was identifiable in the revolutionary tricolour in Sorrieu’s
utopian vision ?

OR
How were the Vietnamese encouraged by the French to look modern,
during the colonial period ?

2. ‘EEMEl weg % 31 hl TR HIfNT | 1
HAAAT
“GATCHe ITeg oh 31 h ST HINT | 1
Explain the meaning of the term ‘Calligraphy’.
OR

Explain the meaning of the term ‘Epistolary’.

o

3. YU % 9gd "YUl ihideh HEHH % €4 H AW SN &, TEHI Th HR

<

ISR HIT | 1
HAAT
Y= JdTg o HEd ol IATR HINT | 1
Highlight the reason for land being known as an utmost important natural
resource.
OR

Highlight the importance of contour ploughing.

4,  AThdlEeh SIIEATS H HAT hl HTEIEH] 1 3T<S! & 2 Ueh hIUT TIL HIfST | 1

Why is power sharing good for democracies ? Explain one reason.

| 32/5/1 3 P.T.O.



5. g1 ol fafwa o1 Hiesm o0 el ST § 2
T

T HTAT Sl GgT o 9 A AT a9 ATl | ?
Why is money called a medium of exchange ?

OR

Why are demand deposits considered as money ?

6.  SEUSEH HEAT 3N B HHHRI H 3T T HIT |
Differentiate between multinational corporations and domestic companies.

7. UM AT foh et veg I U et Wled B | 39! e gHfTad S 6
feTu 31y -4 vsg fag () ST =me ?
Suppose you have to purchase a bottle of honey. Which logo of quality
would you like to see to ensure its quality ?

Qs @
SECTION B

8. ST % FHE H ST a4 foemmeh hi R 1 aUH HINT |
areat

o & ‘o foieRt srgie’ | Afgeett i Rt @ vl i |

Describe the role of Otto von Bismarck in the making of Germany.

OR
Describe the role of women in the ‘Anti-Imperialist Movement’ in Vietnam.

9. “dragdl 9¢ AT H EU SHIfd 4 AT 1 Siad ded a7 39w aehl dlga
39 %A I gfee iy |

HAAT

‘St at & U g 3 ufgesti % wiva g9 e faba e 17 s
HYA 6l I IeTEN afga gfse i |

32051 4



“Print Revolution in sixteenth century Europe transformed the lives of
people.” Support the statement with suitable arguments.

OR

“The nineteenth century European novels depicted the involvement of
women.” Support the statement with suitable examples.

10.  “THISHU A Sl hl GAWdT I IGHT 2 |7 dehl Higd 39 e hl e HIfT | 3
AAAT

“qui-STet TIEY g, el S GEINAT <hl HHEAT Wl A A T Teh THTE 3T
2 1” a  FIREEd 3gUsy | 3

“Urbanisation has added to water scarcity.” Support the statement with
arguments.

OR

“Water harvesting system is an effective measure to reduce the problem of
water scarcity.” Justify the statement.

11. F=fRed = @l® wHal 3R @ Badi § aFfiehd i : 3
i "
(i)  Hehl
(i) St
(iv) HX
(v) SNU
(vi) I (W)
Categorise the following as Kharif crops and Rabi crops :
1) Wheat
(i) Maize
(iii) Barley
(iv) Peas
(v)  Bajra

(vi) Tur (Arhar)

| 32/5/1 5 P.T.0.



12.

13.

14.

15.

16.

“guare’ i forgl o9 fammsarst =1 guiH i | 1x3=3

HAYAT
iiaeter TRNEE, 1992 g LA TRmE fHhrl i 93rh §9H & {381
U feoregl i shedl T U hifT | 1x3=3

Describe any three features of ‘federalism’.

OR

Describe any three steps taken to strengthen the local self-governments, by
the Constitutional Amendment, 1992.

“Torfifa 3 gmfes fowrsHEl w1 39g | Od qE g1 =e |7 U &
IETd 38T | 3

“Politics and social divisions should not be allowed to mix.” Justify the
statement.

“Srepaifrep e srawed fafay wmfoe fawemt § amser et & 17 5
He T gfse HIfTT | ’

“Democracies accommodate various social divisions.” Support the
statement.

SAA-AAT AN o I o @&d ol TR f99 Bid 8 2 I8 dfed Tose
HIT | 3

How do different persons have different developmental goals ? Explain
with examples.

IR f57e & o fohegl diF T I T HINT | 1x3=3
AT
U7 i T TEEYU W1 <l ST HINT | 1x3=3
Explain any three functions of the Reserve Bank of India.
OR

Explain the three important terms of credit.



17. 3Rt bl 3Afres <A 99 & fohedl 9 Srenl o1 fogawo HifSg | 1x3=3

AU
WRA H SgUSE HAEAT (TH.TA.H. ) W ovellentor o SwTEl o fove o i | 3

Analyse any three factors that make globalization more fair.

OR
Analyse the impact of globalization on Multi-national Corporations
(MNCs) in India.
18.  3IUHIHIST o fohral a1 31fereprl <l IsPR hifsu | I1x3=3

Highlight any three rights of consumers.

wug T
SECTION C

19. 3T H 1890 o ik H ‘e’ o HTET 1 9uid <hiforu | 5
YT
‘TR I o TG JUY H HIGU ol GIMSAT I JUM FHIWT | 5

AYAT

IEel T o Ay | wed H Ui & oy § wWisrl 9 gry fee w
TITET Rl U9 HIFT | 5

Describe the impact of ‘Rinderpest’ in Africa in the 1890s.

OR

Describe the conditions of workers in FEurope after the Industrial
Revolution.

OR

Describe the efforts made by philanthropists to counter criminalisation in
London in the mid-nineteenth century.

| 32/5/1 7 P.T.0.



20.

21.

22,

23.

24.

25.

“afea 31971 eI bl HmTsT il sarE FIfSu | 5
AU

YT s AR TR ToHIfaeh feafd W Yom foava g o IO i Same
T | 5

Explain the limitations of the ‘Civil Disobedience Movement’.

OR

Explain the implications of the ‘First World War’ on the economic and
political situation of India.

TRA 31eIaed] § 987 I 1 TIfrse Agw a1 g 2 T9¢ <hIfvu | 5

Why does the textile industry occupy an important position in the Indian
economy ? Explain.

T | Wi & feral gi= @i o1 9vi9 HIifSu | Ix5=5

Describe any five benefits of tourism in India.

‘qrifuear veg Wl URWING HINT | WRA § g H ARl =R
Rrryarett < sare hifvu | 1+4=5

Define the term ‘Secularism’. Explain any four features of secularism in
India.

AThas ohl THEd i H TSI Gall o fohral UId ST bl IATR SHIMT | Ix5=5

AUAT
g foTu Toifaes ol <l et 1 @ 2 fohegl 9i= STl bl ISR hINIT | Ix5=5

Highlight any five functions of political parties to strengthen democracy.

OR
Why do we need political parties ? Highlight any five reasons.

quTfed &5k o fohegl Ui=l ATHT ohl 380N Ffgd ISR hIfST | I1x5=5

Highlight any five benefits of organised sector, with examples.

8



wus ¥
SECTION D

26. (A) T AFYT ‘@’ IR b T T HRA o TSI W@-AFERS (98 11 |), §
Jferd fopu 1T & | 39 T&On Rl fAfeRad SRRl <l HERdT § YT
3R Ik T AT IToh qHIT Wi T8 W@redt W fafaw 1x2=2
(a) 9§ TIM &l WA TSI S 1 AREvH g2 |
(b) o8 TAW @I S F Yt et wolgll % ve H weAwE fhaAr |

(B) & feu U wRE % UeHifaw W@wHtE | Sefafaa § @ et /T
%! IUYH Fal ¥ quisy IR Ik W fafaw 1x3=3
1) TS — ARSI gaTs g
(i) 9gradt  —  oiEr R I 93
(iii) U= AT T GTFCAR STl ITeh
(iv) fesh _ gy
(v) —  3Ifvees S A

(A) Two features ‘@’ and ‘b’ are marked on the given political outline
map of India (on page 11). Identify these features with the help of
the following information and write their correct names on the
lines marked near them :

(a) The place where the Indian National Congress Session was
held.

(b) The place where Gandhiji organized Satyagraha in favour of
cotton mill workers.

(B)  Locate and label any three of the following with appropriate symbols
on the same given political outline map of India :

(i) RajaSansi -  International Airport
(i1) Bhadravati —  Iron and Steel Plant
(iii) Software Technology Park of West Bengal
(iv) Tehri — Dam

(v) Kaiga —  Nuclear Power Plant

| 32/5/1 9 P.T.0.



Fig:  FHECTRET 397 #acl giRaTaa qagnteder & o/ 397 61 26 & €& T/
g | faregt ura 3971 & 3 1o71% :

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26. Attempt any five questions :

(26.1) 38 T &1 AW foafgu, et fia St @dt v 9 fhaE 3 aemE
fopam |

(26.2) 38 TSA &1 AW foaftgu, Sgt et 3 F9e ST I el |

(26.3) 39 USA 1 A fAflagy, &l Sfcratarer s gerhie g3 |

(26.4) 39 TF 1 a9 Terfau, Sr&T Tem At =i gars ue foda R |

(26.5) 38 TS 1 9 fafge, & Gom e 3R s99a 93 fod 2 |

(26.6) W TS 1 9 faflge, &1 700 3fvees St g3 fed 2 |
(26.7) UfTaq ST o GiF=R SaHIATS] UTeh okl 919 fARET | 1x5=5

(26.1) Name the State where the Indigo planters organized Satyagraha.
(26.2) Name the State where Gandhiji violated the salt law.

(26.3) Name the State where the Jallianwala Bagh Massacre took
place.

(26.4) Name the State where Raja Sansi International Airport is
located.

(26.5) Name the State where Salem Iron and Steel Plant is located.
(26.6) Name the State where Naraura Nuclear Power Plant is located.
(26.7) Name the Software Technology Park of West Bengal.

e 10



I3 9. 26 & fow For question no. 26

WA kT WET-HTA T (TR )
Outline Map of India (Political)
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